Booklet Code Test Booklet Number

R i

Series HRL./1

A

This Booklet contains 24 pages

Time allowed : 1V howrs TEST BOOKLET
fFuffea gm . 14 qoe
T gt

PRACTICAL SKILLS IN SCIENCE ¥ 3 24 98 &1
o ® AT wive

Mazximum marks : 20

ferRas 3F - 20

General Instructions (TTHIF ﬁé‘ﬂ) :

1.

2.

Atternpt all questions.

gt ¥ a2

There are 30 multiple choice questions in total. Only one of the options in every question is correct,

T v # g7 30 agfeedt 1§ o T a8 e @ e

The question paper consists of two sections — Section A and Section B. Each of the 20 questionsiin Section A carries half
mark and each of the 10 questions in Section B carnes one matk.

30 YT % Q) Tg B- QT F TN TS G GUE F & wefl 20 W I0-3 e § oU §UE @ & @ff 10 T
TH-TF 3 F B

15 minutes additional time will be given to you to read the questions.

T T % foe s 15 e w0 sl g T s

The Answer Sheetis inside this Test Booklel. When you are directed to open the Test Boecklet, take outthe Answer Sheet and
fill in the particulars on S1DE-2 carefully with blue/black ball point pen only. In no case, pencil is to be used. Read
“General Instructions for Candidates” and “Example, How to write and darken circle on SIDE. - 2" as given on SIDE - 1
carefully.

F-0 30 T e % ST T 8| W St wh g e sl w9, @ 39-TA e W UB-2 T Fad
Hiwt /el dter W 99 9 frmw o fad o fafh | e w awdm 3wt ge-1 ® e ot & R
" R v g-2 w o ol #0 9a0E F T S AR S 9 |

Use Blue/Black Ball Point Pen only for writing particulars,.on this page and writing particulars and marking responses on
SIDE-2 of the Answer Shegt.

TH T8 W U IR-9F F g¥-2 T ey, 3ifda w67 w6 e s % for Shaet A/ we 9w rge 99 5w )
Or completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidate
i5 allowed to take away this Test Booklepwith him/er. -

T 7o g W, Tl w9 /aaset f @ s-w F4 (e 3 s 9 3) wamlf s we @ i
T AW T

The CODE for this Test Booklet isA. Make sure that the CODE printed on SIDE-2 of the Answer Sheet is the same as that
onthis booklet. In case'nf discrepancy, the candidates should immediately report the matter to the Invigilator for replacement
of both the Test Booklet andithe Answer Sheet.

w0 wian giete s A ¥ o gifee R & & 8 gm & w5, IR-1 ¥ yE-2 W v | fie 3
R a5 fE F i e guh e gfem o smew oR % fo w5y Filles B g saw sl

The gandidates should ensure that the Answer Sheetis not folded. Do not make any siray marks on the Answer Sheet, Do not
write your,Rall Number anywhere else except in the specified space in the Test Booklet'/Answer Sheet.

wefl gheae ® W IW-T B A T Y @ 3 W A oy P 7 and) whsneff s g adian
YR/ g § fuifa wm & afiies or 7 )

100 Use of white fluid for correction is not permmissible on the Answer Sheet.

Name of the Candidate (in capimals) :

FW- W Bl vEw & ave ¥ 96 wRRE S wEm S s T 2

el 71 am (a2 sl #)

Roll Number:  in figures (3 H )

STGPHTE

in words (7121 % )




1.

Section - A

QUg — &

The correct procedure for preparing a colloidal solution of egg albumin in water 1s :

)

2)

3

(4)

to break the egg shell, take only the white portion and to add it to water with constant
stirring.

to break the egg shell, take only the yvellow portion and to add it to boiling water with
constant stirring.

to boil the egg first, to break the egg shell, to add the white portiontoiee cold water
and to mix.

to boil the egg first, to break the egg shell, to add the yellow portion:4o water and to

mix.
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Four students (A), (I3), (C)and (12} independently observed the evaporation of water under

different conditions, and recorded the temperature of water at regular intervals as shown

below.
Student | Placing of experimental Temperature recording
set up in‘under for 15 minutes
(A) sum increased gradually
B) open air decreased gradually
(C) a fan initially increased, then became constant
(D) a corner of the room initially increased, then gradually decreasec
The correct recording of observations is that of the student :
(1 (A (2) (B)
3) © (4} (D)
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(2)

3)

4)

a funnel fitted with a plug over a flame. He would obsérve that :
chloride remains in the china dish.

solid sand gets deposited on the lower cooler parts of the furmel while solid ammonium
m the china dish.

A student takes a mixture of sand and ammonium chlefidein a'china dish and heats it under
china dish.

(1)

sand and ammonium chloride getideposited on hotter parts of the funnel.

(3)

2l

ammonium chloride gets dep@sited onthe cooler parts of the funnel and sand remains

()

2

sand collects on cooler parts of the funnel while ammonium chloride melts in the
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4.

A student takes some water in a beaker and heats it over a flame for determining its boiling
poirit. He keeps on taking its temperature readings. He would observe that the temperature
of water :

(1) keeps on increasing regularly

(2) keeps onincreasing trregularly

(3) first increases slowly, then decreases rapidly and eventually becomes constant

(4) first increases gradually and then becomes constant
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While performing an experiment on verifying the laws ofreflection of sound, a student is

to choose between (i) a narrow or a wide tube and (ii)2 strong or a faint source of sound.

The observed experimental difference, between the values of angle of incidence and angle
of reflection, is likely to be minimum when he chooses a :

(1) narrow tube and a faint source

(2) wide tube and a faint source

(3) narrow tube and a strong source

(4) wide tube and.a strong source
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6. The magnitude of zero error of the spring balance and least count of the measuring cylinder,

shown here, are, respectively :

tami
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(1} 25gand0.1 mL

i

(2} 50gand (.1 mL

(3) 25gand D2 mL

(4) 50gand 0.2 mL
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(1) 2.5 g3M0.1mL

-

I|Jll[|i|}||||||l[[|

@) $.0g30.1mL
(3) 125 g3 0.2 mL

(4) 5.0g3M02mL
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7.

For plotting temperature-time graph for a hot body, as 1t cools to room temperature, a
student is to choose one each from each of the following pairs.
A: Calorimeter

(i) blackened from outside

(i) polished from outside
B : Basec for keeping the calorimeter

(1) insulated

(i1} metallic
In order to get the correct graph he should prefer to choose :
(1) A(@D,B (i) () A (i), B (i)
(3) A@.BQO) (4 A, B @)
T A 408 9 R F A a6 T 8 W T 8 a1 I8k Toie AM=ged & 1= 7% 3o
Fd g4, G el = Fafifen 7ot @ v 4 9 u-uh el = g = R
A W

(i) ST W Fren frm gam

(i) R @ wiferan e g

B : eliHie @s % A smem

() TS

(i) enfcds
et U T FA % FAw SRl e i
(1) A, B (i) (2) A (i), B (i)
(3) A(),B(@) (4) A@D,B ()

A student sets up aslinky on a smooth table top in the manner shown here.

P Q

Smeooth table

How can he produce transverse waves in the slinky by moving its free end Q ?
(1) at an angle of 45° with the table top

(2) backward and forward along the length of the slinky

(3) upand down

(4) left and right
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A student carefully observes the parts labelled A andBiin
the given diagram and classifies the plant correctly as”
(1) abryophyte

(2) apteridophyte

(3) agymmosperm

(4) an angiosperm
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10. Four students (A-D), independently observed parenchyma under the microscope and labelled
the parts, marked I, 1i, 111, 1V, V, as per the record given below.

Student ] | m IV \%

A Cell membrane | Nucleus Cell'wall [#"Wacuole Cytoplasm
B Cytoplasm Cell membrane Vaguole | Cell wall Nucleus

C Vacuole Cell wall Nucleus | Cell membrane. Cytoplasm
D Cell wall Inter cellular space | Nucleus [ Cytopiasm Vacuole

The labelling has been done correctly by student :

1 A
@) C

) B
4) D

IR TFITieET (A-D) A TRERTERT (Jaiae ) 1 V&4V TR §9 | AR g0 W L 11, 101, IV
3RV am # = fel T feed & ergan amiisa o |
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11.

12.

Teremeff I i m v \Y%
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A specimen of a fish was given to students to identify the externally visible chordate feature
in it, The students would look for :

(1) Operculum (2) Notochord

(3) Dorsal tubular nerve cord (4) Post anal tail

. Tt = v weht w1 wives! () e R TRt @g it ggEE & o fen
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(1) 9=8¢

(2) I8y

(3) Y8 AlTRERE ael

4) T IS
A student adds a few drops of the universal indicator to a solution of dilute hydrochloric

acid in the way shown‘here. He would observe that the colour of the solution changes from
colourless to :

il > .
¢ drops of universal indicator
de
(1) red ‘
(2) yellow 1 _ ..
. - dilute hydrochloric acid
(3) violet &
4) green \_/

9 [P.T.O.
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13. A student takes some zinc granules in a test tube and adds dilute’hydrochloric acid to it. He
would observe that the colour of the zinc granules changes to':
(1} white (2) black
(3} brown (4) vellow

wh Tl sl 3 ik % g5 a1 e ST eI TRTE STer & | 9 e s
for o/ &% a1 & T B qfigdd Bt 3T THE! T 8

(1) &1 (2)NFE T

(3) whead T @) @

14. The *setup’, used in thg laboratory, to collect sulphur dioxide, is that shown in figure :

S0 = —— 80,
N
-z AN —Z;:"‘ ________
N it Gt
Fig (1) Fig (1) Fig (1II) Fig (IV)
(1) 1 (2) 1
(3) 1 4y Iv



15.

TANTSIET H GeF SR3THFATES Thidd 4 1 adt wy=a e o 4 fogmn w7
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(1) 1
(2) 1
(3) I
4) Iv

A student determines the focal length of a device X, by focussing the image of a far off
object on the screen positioned as shown in the figure below.

The device X isa : X
(1) Convex lens Screen
(2) Concave lens

(3) Convex mirtor

{4) Concave mirror : /

| %

35 X 1 B8 T T ¥ R o et fram m R % sgER, T g @ fa
T e & 9T $Ihiya il 2|

LIE T Y

LRI

X
7fh X 2
(1) TS o RSl
(2) aad | = g
£ é
(3) I9<1 <Uw / g g
(4) 3Fad gUm |
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16.

17.

A student traces the path of a ray of light passing through a rectangular glass slab.

A

ey

N AR

For measuring the angle of incidence, he must position the protractor in the mannershown

in figure :
(1 A (2) B
3y C 4 D

e Taerefl s ) U faor W i Sl STEETR 9fEER E B TR T R 99 dihar

b

S

8

\d

8]

[C}

~

AT HIvT h A o fore, muen few fow F R e fafa ) oifa s o e w@
ey ?
1) A
3 ¢

@ B
4 D

In an experiment on finding the equivalent resistance of two resistors, connected in series,
a student connects the terminals of the voltmeter, to :

{1) one terminal of each of the two resistors and these terminals are not interconnected.
(2) one terminal of each of the two resistors and these terminals are also interconnected.
(3) Dboth the terminals of each of the two resistors.

(4) boih the terminals of one resistor and one terminal of the other resistor.

12



18.

19,

@ W § A TRRvE ¥ AviEn TN w1 ged TR0 I e ¥ o, us e
Feerier & Ziaert = fore yohr g & 7 '
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In the experiment to show that CO, is given out during respiration, the studentuses’

(1) Lime water (2) Alcohol

(3) KOH solution (4) Todine solution

AT F0 7% 5 % forg TR vam fomn & co, Trererht &7 weh farneff fewe swim awa
87

(1) = T Q) TR

(3) KOH I g/l (4) ST I 8

Raisins are soaked in water for determining the percentage of water absorbed by raisins.

The formula, used by a student, for calculating the percentage of water absorbed, s :

Initial weight — Final weight Final weight — Initial weight
— - x 100 (2) — : x 100
Initial weight Initial weight
Final weight —Initial weight Initial weight — Final weight
: : x 100  (4) x 100
Final weight : Final weight

Frafrt g0 Jw Feraiiia wfove 7 39 w@ * g, it = 9a 8 S s
2| T, faeneT g <@ ) sramiifie i A wiesfam w9 %1 5 e

W TRIETS o — 31fa wR < 100 2 i 9R — yRfEE wRr < 100
YRR R YRR ur

%, axﬁnmt—mfﬁmmx 1'00 @ TR 9T — 3Tf 91 ‘100
=\ TR A= R
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20. The steps, necessary for setting up the experiment, “To demonstrate that light is necessary
for photosynthesis™ are not given here in proper sequence.
I.  Keep the potted plant in sunlight for 3 to 4 hours.

II. Keep the potted plant in darkness for about 48 hours.
III. Cover a leaf of the plant with a strip of black paper.
IV Pluck the leaf and test it for starch.

The correct sequence of steps is

(1) LILIV,1

(2) LIV,ILII

3 ILIV.ILI

4 ILIOLLIV

T BT R B9 ¥ o i mee el % fo wee Y ctravmesar @t & o e sl
1 T Bt & A A 3 ™ ¥ gty dgdtwn F

I 7ol § o 0 & g % Y .3 H4 W % forg dau)

I 7§ & DY F 3R 7 748 w2 % fou aay

I 99 H e o A TR Fe @ @ el

IV ol & A 360 TN A e fif

< v HE R
(1) DL IV, 11
@, LIV, I
G ILIV, 1L, T
4) ILILILIV

A 14



Section .- B
Qg — @
21. Four students, (A), (B), (C) and (D) observed the colour and solubility of iron, sulphur and

iron sulphide in carbon disulphide. The tick mark (v') represents ‘soluble’, and cross mark (x)
represents ‘insoluble’, in carbon disulphide. Their observations are tabulated below.

Student Colour Solubility in carbon disulphide
e S FeS Fe S FeS

(A) Yellow Silvery Greyish silver ") (%} ()
(B) Silvery Orange | Reddishbrown | (%) " (')
©) | Grey Yellow | Greyishblack | (x) ) ()
(D) Silvery White Silvery white () 9 (x)

The student, who correctly reported the observations, is stident :

1 @

2y ®)

3y ©

“ (D)

IR Rrenfdat (A), (B), (C) 3R (D) 3 118, Heux 3R T Te®1se & U1 IR T S
TRRewEs H foerrar @ Sa 5 ) s TR (v) w1 Seewse § goEsied 9 $i
R (x) 308 TgeTEiadl quid @1 9% Yan e Frefafen oifees § femmn
™ &)

foremeff T HTeH SEHCHEE T gerviieal
Fe S FeS Fe S FeS

(A) [de T WA | AR ) ) )

(B) (W Hwm | T TE-FRE | (%) () 8]

(Gl e -1l () () ()

(D) \|=1et % Tue | wa i smEa| (V) () (x)

e Jeri ) wiet fora, = foremdi 2 -

1)y &)

2y (B)

3y ©

4) (D)

A 15  [PTO.



22. Four students A, B, C and D while performing an experiment on establishing the relation
between the loss of weight of a small solid when fully immersed in tap water, and the
weilght of water displaced by it, used four different shapes of overflow cans containing

water as shown.

(A)

The arrangement, that would give correct results, is that of student :
1) (A}
2} (B)
3y ©
4) @O

et B2 38 Y 7 & g B O IR Ry FH IR 3 3 eenfug o % w d
Y Wa = & fore ws vay e er fFentat A, B, C, D 3 9 fafim s
& T FdA1 F1 3y feue fam % ergER R

fra forameff &1 Tem W aRomm 3T
1) A)
2) (B)
(3) (C)
4) D)

A 16



23.

24,

Which one of the following is the correct step, in the procedure for making a temporary

slide of human cheek ¢ells ?

(1)} Place the cheek cell scrapings in a watch glass containing water.

(2) Place cheek cell scrapings in the centre of a clean slide.

(3) Dip the toothpick, contaming cheek cell scrapings, in the stain and then transfer to a
clean shde.

(4) Obtain cheek cells, directly on the slide, using its edge to scrape the inside of the
cheek.

AHE FHUIS HINa Fi AR @R T3 £ g uirn Pefafas 4 @ @ 2

(1) == g 8 W o § w0 wilem i Sem B fau)

(2) TF =5 TES F &3 7 FUd FIH H Sier da@n)

(3) e i F Srom it dadt @ srfines § gee v TR 9 wuEaka
iR

4) TR F AR w1 I W, FOA F Al T w, SR, WEe W Y wHa
TRl &y Hifvm)

While observing the occurrence of plasmolysistin onien peel cells, four students (W-Z)
respectively placed the peels in four different liquids (A-D) : (A) : Water, (B) : Sugar
solution, (C) : Alcohol and (D) : Safranin

The cormrect choice of hiquid is that of student :

(1) W |

2 X

Gy Y

4 Z

o ! gl F it & e 3o A f) il w dam e @, SR
et (w-z) = Rifgat = wr ffim w&i (A-D) Fw@: (A) - 93 (B) : =+ # faemm
(C) : THE (D) : A

TR H aren faameff S a7
VW
@ X
@ Y
4 Z
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25, Astudent takes Cu, Al, Fe and Zn strips, separately in four test tubes labelled as I, 1T, I and
IV respectively. He adds 10 mL of freshly prepared ferrous sulphate solution to each test
tube and observes the colour of the metal residue in each case.

(1) (IV)

He would observe a black residue in the test tubes :
(1) (Iyand(ID (2) (Dand (III)
(3 (I and (110} (4) (Iyand(IVY)

uw ferneff Cu, Al, Fe 3TR Zn o gfzdiwr S1em1-31e 1, 11, HI 37 1V TErihd s
T U T 2| 98 Tl WEACA, 10 'mL T S 518 ke 1 fIeraa Sradn & 3t

e T H S99 & UT A Aare)
a am (V)

Cu
» I8 FIel T HT 9N fora-fora yrgafasnt o a@m ?
(1) (@3 an# ) (3 UDH
(3) (s amd @) (D smavyd



26. Four students observed the colour and odour of acetic acid and its reaction with sodium
hydrogen carbonate. They tabulated their observations as given below.

| Student Colour of acetic Odour of acetic Action with sodium
acid acid hydrogen carbonate
A blue fruity gas evolves without bubbles
B " colourless smell of vinegar | effervescence
C hight green odourless gas evolves withoutbubbles
D light brown rotten egg effervescence

The correct set of observation is that of smdent :
(1) A

2y B
3 C
4 D

ar fenfdal 3 Udifes ofas & o ot 9 3R @it Tegiem FEMe & @y SEh
stfrfshan 1 Stagor fopa | 3ET T Dern wh fEd % ergem @i R |

et s e | Wil wRe Ay greeid TEhe
ek e & A1y Al
A ftem Sl St for gargetl % N9 w1 I
B TEH e & Ty ERECIE
C ToohT &4 THEN fomr gorget & T o7 I
D TR AT g e Sl G AR
frg B W o e wd 27
(1) JA
(2) "B
Q) C
(4) D
A 19 [E.T.O.



27. The following ‘precautions’ were listed by a student in the experiment on study of
‘Dependence of current on potential difference’.

{A) Use copper wires as thin as possible for making connections.

(B) All the connections should be kept tight.

(C) The positive and negative terminals of the voltmeter and the ammeter should be
correctly connected.

(D) The ‘zero emor’ in the ammeter and the voltmeter should be noted and taken into
consideration while recording the measurements.

(E). The ‘key’ in the circuit, once plugged in, should not be taken out till all theobservations
have been completed.

The “precautions’ that need to be corrected and revised are :

(1) (A), (C)and (E}

(2) (C)and (E)

(3) (B)and (E)

4 (A)and (E)

‘ary =Y el w ka1 st = F e e d o e g feefatea

YT H et s T

(A) g % fore R gaen dfe 1 OR 0@ 8, 3991 )

(B) WX HaYH 3¢ T W4 |

(C) diceriex 3R U & uRceh &6 Sruieds et =t T8l TR Ser we |

(D) THIeT 3R areiet H [T ¢ Y Aie H AT I NS HTd THA ITHI L @I
| \ “ —

(E) qﬁqﬁﬁ@anwnéﬁywﬁaﬁeﬁﬁmﬁﬁw@?ﬁaﬁ,qﬁﬁmmaﬂ%m

grauTrEt T SEie i grugha # anavas 8, 92

(1) (A), (€), 3 (E)

(2) \(€), 31 (E)

(3) (B) 3T (E)

@) (A) 3R (E)

A 20



28. For three circuits, shown here

A

Rl
A
ad (Y=
N
A
R,
(o)

O (B
=V, TR
W —AW
R, &
T = £y +1 = ¢
|I|. L) |I|- i*)

the same two resistors R, and R, have been connected 1n parallel in all the'circuitsibut the

voltmeter and the ammeter have been connected in three different positions. The relation

between the three voltmeter and ammeter readings would be -

(1) V,=V,=V,andl, =L=1,
(2) Vla.t\/’2;&\?3andl]=12=I3
() V,=V,=V,andT,#L#L,
@ V% V,2V,andl #L 1,

) —
H=—)

fearR ™ & it & fou
212
+®;V] (O
WA A
+ =Ii_ Rz v,
Hi=——r(s) =

7

& it RSt R, T+t witael § @ 9 & 2 8, oy Wfie aw deerfier i fm-
firr Tl TSR T # | f Aeediet iR Uiet TegRt ® wed Bh:

() W=V, =V, sl =1,=1,
@ Wi V2V, SR [ =L=1
By V,=V,=V, #dR 1 £ =]
@) V= VeV, 3L #L#L

A 21

[P.TO.



29. Four stages of binary fission in amoeba are shown below. The stage at whicn =Ll 220 Z:: -

and cytokineses are observed is, stage
I I I
M 1

@) I
(3) I
@ v

FTH1ET 7 Tigue sl IR SR i< Tears 718 24 97 S1aedv e € € Toed Aresa faaves
A G %1 Yem g 2 7

s gl

1y 1
(2) I
(3) W
4, W



30. Fourstudents. 4. B. C and D. make the records given below, for the parts marked X and Y

m this diagrar.

iz AN Y

Stoma Guard cell

3 Guard 220 Stoma

C Epiderma: o2l Stoma

D Stemnz Epidermal cell
The ¢orrect record. out of these. is that of student :
(1 A (2) B
3) C (4) D

fed 7 e W SR faEmeaT A, B, C D X 3R Y 9HT & foTg 319 Tt 38 WK fiete
| Py B ;

e X Y

A 0| ZR BIRmER

B ER g Lo}
\ C T T S FE | W

D L] T cor hY IR
|2_«»“:=!9"7x-rﬂ_ﬁpfﬁ?ﬂmﬂaﬂ—€fﬁ1—a?
(lr A (2) BA
3 C = 4 DA
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